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Answer the following questions:

Question One: (10 Points)

Choose the appropriate answer for 10 items only from the following:

1. TheFlowchartisa representation of an algorithm.

a) text b) graphical c) tree d) physical
2. Onecanuse to clear the command window.

a) clc b) cls c) delete d) clear
3. In Flowcharts, are used to input values of variables.

4, IfXand Y are two matrices and both of them have 3 rows and 5 columns; which one of
the following statements is a correct command in MATLAB?

a) X*Y b) X./Y Q) Y/X d) X*2

5. Conditions are made in Flowcharts using .

2> V<> 07

6. To draw the curve between the vector X and the vector Y, you can use .

a) plot(x,y) b) Plot(xy) c) Plot(X)Y) d) plot(X)Y)
7. The command is used to compute the average of all elements of a matrix Z.
a) mean(Z) b) mean(mean(Z)) c) average(Z,2) d) average(Z)

8. The output of the command [ones(1,2), zeros(1,2)] is

a) [(1) (1)] b) [i 8 ¢ [1100] d)

OO =

9. To define a symbolic variable t, you have to write the command ;

a) symst b) symt c) chart d) syms(t)
10. is used to get more information about the command inv.
a) invhelp b) inv? c) helpinv d) help/inv

11. 1fT=[2, 4, 5, 11], then T(2) * T(end) = ____
a) 8 b) 10 ¢ 22 d) 44
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Question Two: (10 Points)

Write the MATLAB commands that perform only 5 TASKS of the following:

1. Generate the matrix A(5,5) that contains random numbers from 0 to 10.

| Answer: (2 points)

2. Compute the summation of each row in A.

Answer: (2 points)

3. Compute the indices of elements greater than 5 in A.

| Answer: (2 points)

4. Change all values in the first columninAto 1.

[ Answer: (2 points)

5. Round the values in the last row in A to the nearest integer number.

Answer: (2 points)

6. Compute the determinant of AL,

Answer: (2 points}
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Question Three: (15 Points)

1. Write the output generated by the following code:

for =135 M = ones(3,3);
X =i i=1
if (x>2) while(i<3)
displi, x); M(i, i)=5
else i=i+1;
disp(i) end
end disp(M)
end
Answer: (2 points) Answer: (2 points)

2. Write the appropriate MATLAB commands for only 2 of the following items:

2
s x“+5
a. Compute: lim,_ o =——
p X200 3524

Answer: (3 points)

b. Compute: E%Q, where f(x) = e** sinx

Answer: (3 points)

c. Find x and y from the following two equations 2x —y =1, x+3y =4

Answer: (3 points)

3. Write a MATLAB function that | Answer: (5 points)
takes a number N and return

the value F, where

F=1%2x3x--xN
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Question Four: (15 Points)

()

1. Draw a flowchart that reads two numbers N1 and N2 and return the smallest number.

Answer: {6 points)

2. Draw a flowchart used to print all odd numbers from 1 to 100 and its squares.

Answer: (9 points)

The End of the Questions

Best Wishes, Dr. Emad H.A. Mabrouk & Dr. Hanaa Aly Sayed



Department of Mathematiés % ' Cilualy Ji and H
. M ,
g

Faculty of Science : o slal) 4,8 J

aY o1 o/Y Ve Laaladlalall 3681 ol sal) Juadl) dlgs oladal
Joid) L sl saa Js¥) (s sienal) 148 80 Glis e 1 G ) (Y ) Sl el ol
(AnalAl) Ap ) \RREIAVART gl dad 50 : olaia) da

Part I: Answer the following questions: (Q1, Q3. Q4 have 6 Marks and Q2 has 7 Marks)

@ 1i sin xsin 2xtan22x (ii) 11 2tan 'x - x
QL: Find: 207 11 x?sin? 3x ’ | xLIlO 2x —sin ' x
x+1
, Xx# -1

Q2: (a) Examine the function f(x) for continuity at x = —1, where f(x)= x?—4x-5

7 , Xx=-1
: 2
. v +1 3
) Find V', If y=,-—5—, u=x"+1
\f u- —1
; . 4 2 -1 E s x —sinh x sin x
03:Find ) : () y=("+x)tan" x, (@) y= T rseex’ (iii) y = "™ cosh3x
=4
cosh™ x
5 | 2 3 oo
04: (a) Find V' : () y=smn (x*+D.In(x"+6) , (@)y=—"75"
1+x
, (x+2)(x+3)(x—4)
(b) Use the logarithmic differentiation to find V for the function JV = (x— 2)3

Part I1: Answer four only from the following questions (25 marks, 6.25 mark for each question):
Q1: By the method of mathematical induction, prove that

1.343.345.3 4 (2n=1).3" =(n-1) 3" +3
6x  +4x -7
Q2: Resolve (x—2)(x+ 3)2 into its simplest partial fractions.
z . i

Q3: Determine if the series ; (2n - 1)(2n +1)

Q4: Determine whether the following series converges or diverges:

5k+3 (k!)* 2* 4k*-2k+6
(')Z[sk 1) ’ ()Z(Zk 2! (’”); 8k +k—8

Q5: By using Gauss-Jordan elimination, determine all the solutions of the given equations:
2x,— X,+x;—x,=-1,

converges or diverges. If it converges, find the sum.

X, +2x,+3x; =0,
3x,-2x,+x;—x,= 0,

X+ oxtx+tx =7
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